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s it06-ans.R ~
dat <- read.delim("http://phi.med.gunma-u.ac.jp/medstat/p06-k.txt")
attach(dat)
NDI <- NDE-NDS
HFDI <- HFDE-HFDS
print (res<-var.test (NDI,HFDI))
VAREQ <- ifelse(res$p.value < 0.05, FALSE, TRUE)
t.test (NDI,HFDI,var.equal=VAREQ,alternative="1less")
detach(dat)
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(F = 0.5306, num df = 9, denom df = 9, p-value = 0.3591 )
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O0o00000o0ooooooOb00o00 =-3914800000 ¢t+0000C0OO00000 0.00050770O0O0O
OooooooooooosODOOOOOO0O0O0OoOOoOOOOOO0OOoOoODOOOC0b0O0O0O0OooOoon
0000000000000000000MO0000 5% 000000000000
0000000000000000000D00000000000000 5%00000000000
oono

J

*1' 0000 http://phi.med.gunma-u.ac.jp/medstat/it07.pdf 00 0000000000000



guobggoouooouoood

joobooooooooooDooOb0 200000000DOO0OCOOOO0OO0O0OOOODOOCOOOR,O0D 2
ooooooooooo .G, 000000l 0b0o0o0 1000000 500000000000 DO0OO
00000000000 0O0O0OUO0OOUOOO s%I00000O00003000000000000D0
0000 100000000000 000000DO0O0D0D 100000 5% 000000000000
goooooo

coboooooobobooobooooboooooobooooboOooooOooooOoooboboOoobooOoOoOooonn
gobbooooboooooboooooobooooobooooboooobooooooooooooooDooOoobboOooon
000000 (Kruskal-Wallis) 00000000000

000000000000000 5%0 20000000000000000000000000000OO0
0001000000000000000000000000000000 5%0000000000000
goboooooooobooooo

0000000000000000000000000000000000000000000000*20
gobbooooboooobooooooOoocOoOoOOoOoOobOOoO0O0obOOoOoobooOooboOoOoOoOOOoOoOoDbOboOOon
gboobooboocoocooooooboobOoobooOooOoboOooOooOoOobOOobOOobOOoOOoOobOOobOobOOOoDbOOn
posthoc 00O 000000 DODO0OOODODOOODOOOOODOOOOODOOOOOOOODOOOOOOOODO
goboooobooooobooooooboooooboooobooooboooobooooooOooobOoobOoOoobooboOooon
goboooooooobboooon

goouoood

gbobooooooooobogobobobooooboboooobobobobobboboooooDoDbo
goooboobobobooooooooooobobobobooboooooooboboboboboboooo
gooobooboboboooooooooooboboboboobobooooboobDoboboboboboooo
gobooooboooobobobooboooboboobooboooboobooboooboobobDboOoo
gmoooooboboooboboboooboooobobooobobooboobobDobobooDbOoDOoD
gobobooboobbooboobboobooboboo

OO000D0000ROOOO0ODOOOO chickwtsDOOOOOOOO0ODOOOOODODOOOO71I00O
goooooboobobooobooboooboboobooobbooboobbooboobbooboob o
OOO0OOOR Console O 7chickwts 00D O00000000D0O0O0DOD Anonymous (1948) Biometrika,
35:214. 0000000000000 0OO

2000000000 (1997) 0000000000000 000000O00O000000O00OO0OOO0O0OO0OOOOOOOOnO
ooooo0ooOo0o0o0ooOoO0oO0o0o0O0oOoO0oO0ooO0o0oO0oOoO0OO0OOOoO0OO0OO0O0DOOoOO0mOubooooo0oo0on, 1997
gmooooooooooooooooooobooooOOO0OOOO0OO0OO0OO0OO0O0O0O0O0O0OOOOOOOOOOOOOODOODDOOO
goooooooooOO0OO0OO0O0O0O0O0O0DO0O00000000O0OCOOOOOOO0OOOO0



O | 0000000 6000000000 (g)

0000 (casein) 368, 390, 379, 260, 404, 318, 352, 359, 216, 222, 283, 332

0000 (horsebean) 179, 160, 136, 227, 217, 168, 108, 124, 143, 140

00000 (linseed) 309, 229, 181, 141, 260, 203, 148, 169, 213, 257, 244, 271
00000 (meatmeal) | 325, 257, 303, 315, 380, 153, 263, 242, 206, 344, 258

00 (soybean) 243, 230, 248, 327, 329, 250, 193, 271, 316, 267, 199, 171, 158, 248
000000 (sunflower) | 423, 340, 392, 339, 341, 226, 320, 295, 334, 322, 297, 318
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data(chickwts)
attach(chickwts)
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layout (cbind(1,2))

boxplot (weight~feed,ylab="00 (g)")
stripchart(weight~feed,vert=T,method="jitter",ylab="00 (g")
detach(chickwts)
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4 N

Df Sum Sq Mean Sq F value Pr(>F)
feed 5 231129 46226 15.365 5.936e-10 ***
Residuals 65 195556 3009

Signif. codes: 0 ‘*x*x’> 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ¢ > 1
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print(res.bt <- bartlett.test(weight~feed))
ifelse(res.bt$p.value<0.05,

cat("UOOOO BartlettOOOO p=",res.bt$p.value,"\n"),
summary (aov (weight~“feed)))

detach(chickwts)
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it07-2.R

print (RV <- var.test(weight[feed=="casein"],weight [feed=="horsebean"]))
ifelse(RV$p.value<0.05,VRES<-FALSE,VRES<-TRUE)
t.test(weight [feed=="casein"],weight [feed=="horsebean"],var.equal=VRES)
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